11.

14.

17.

18.

Algebra Il Chapter 10 (Conic Sections) Review SOLUTIONS

(some of the graphs have been omitted to save space)
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focus (0, -3), directrix aty = 3 8. focus (2, 0), directrix at x = -2
vertex (2, 5), focus (2, 7), directrix aty = 3 10. vertex (5, 2), focus (5, 7), directrix aty = -3
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=1; ellipse with center (-4, 4), foci at (-4 + «E 4]

2 ALY
Standard form: (x+4) + (y 44)

(x+4? | (y-2)°

15 =1; ellipse with center (-4, 2), foci at (—4 + ~/ 10, 2)

Standard form:

Vertex form: X = %(y +3)? +5; parabola; vertex (5, -3)

Vertex form: X = %(y - 5)2 — 3; parabola; vertex (-3, 5)

(x+3)° (y+2)?

Standard form: =1; hyperbola with center (-3, -2), foci at (=3 £ ~/ 14, — 2}
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Standard form: (x+2)” +54) =1; hyperbola with center (-2, —4), foci at (=2 £ ~/10, - 4)

Standard form: (x +4)° + (y —2)? =9 circle; center (-4, 2); radius = 3

Standard form: (x—3)% + (y —4)? =36 circle; center (3, 4); radius = 6
linear-quadratic; (0, -4), (4, 0)
linear-quadratic; (-6, 0), (0, 6)



